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Please check the Question Paper to verify that the total pages and total number of questions contained in
the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

Write your Question Paper Code No. 55/ASS/3, Set— on the Answer-Book.
(a)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any
one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.
(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the question will be yours only.
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Time : 3 Hours] [Maximum Marks : 100
99 3 ) [quie : 100

Note : (i)  All questions are compulsory.
(i) Marks allotted to each question are indicated against it.

(iii) Each question from Question Nos. 1 to 10 has four alternatives (A), (B), (©)
and (D). out of which one is most appropriate. Select the correct answer
among the four alternatives and write it in your Answer-Book against the
number of the question. No extra time is allotted for attempting multiple choice
questions.

e 0 () wl weE F S Afo
(i) Yd® 99T & T Iad oi fa@ T ¥ |
(iii) 797 HE 1 | 10 9% % U&% U ¥ 9} R@ew - (A), (B), (C) @41 (D)
E R @ s sugw ¥ ouw Rt ¥ @ 9@ s 9 awr e
SUL-gRad § weT wem & W s Mg | sg-fasedr wedi % o
Ffafaa aag =@ fear smom

1 What type of correlation is expected between heights and weights of students ? 1

(A) Positive (B) Negative
(C) Infinite (D) None
fenféa &% @e oft oo A fhw waw ¥ weEEw B oder G T 7
(A) =FTEHS (B) FOTHF
(C) o (D) & fr &
2 Positive economics deals with the economic phenomenon : 1
(A) What is (B) What ought to be
(C) Individual behaviour (D) Economy's behaviour
qrefas qdTe 39 onfie qsm ¥ wefaw ¥ o
(A) w1 % (B) &1 BT w@fEm X
(C) =afeaTa i =asre (D) aﬂmawmmm%&
3 Ordinal utility analysis was developed by : 1
(A) Marshall (B) Hicks
(C) Robbins (D) Samuelson
wAgEs Iudiftar faseoor =i Rrefia fear
(A) wigTE (B) feam
(©) few (D) Fere S8
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4 x and y are complementary goods. When price of x rises, demand for y : 1

(A) Rises (B) Falls
(C) Remains unchanged (D) Is uncertain
xﬁyﬁmaﬁi%lﬁaxaﬁmﬁﬁ%.ﬁ}yiﬁﬁﬂ:
(A) woar ¥ (B) ==l ®
(©) a8 & ® (D) arfafyaa = %

5 As output increases, average variable cost : 1
(A) Increases (B) Decreases
(C) Remains unchanged (D) Initially falls, then rises
WY SAEA g%l &, o ofed uftadl @rTd
(A) ¥t ® (B) =t %
(C) fax = % (D) g& ¥ Al ¥, fAT socdt ¥

6 Different forms of markets are distinguished on the basis of : 1
(A) Number of firms (B) Ease of entry and exit of firms
(C) Product differentiation (D) All the above
IO & O yeri ¥ A% 39 oMy WX e wmen ¥ o
(A) ®HET B G (B) ®HI & WAy ofX afesiwa @& gadan
(C) 3w fasie (D) s @i 2

2 To arrive at "domestic product at market price" from "domestic product at 1

factor cost", the following adjustment is made :

(A) Add subsidies to and subtract indirect taxes from domestic product at factor cost.
(B) Add indirect taxes to and subtract subsidies from domestic product at factor cost.
(C) Add both subsidies and indirect taxes to domestic product at factor cost

(D) Subtract both subsidies and indirect taxes from domestic product at factor cost

“QIEE @I X BN SR ¥ I dMd 9 BN, SdRT W B 'g 98
fopar wmam ¥

(A) WEA @O 9T U{G SR W eNfie @edl Wisd ¥ oo omds @Y "I € |
(B) WEF WNG YT U{G SO W WEH HT Wed & ofv onfie wewmdr =weW € |
(C) |EF @R 9T UG SdE W onfde "Erdd o SWes &Y aMl Sed § |
(D) @TET WFE UT HYE S § oNfde WEEGT it oW HT AMl Hed § |

8  Transportation of products is a part of : 1
(A) Primary sector (B) Secondary sector
(C) Tertiary sector (D) Government sector
IAE B UH WA Y gE WM U F I R & & oriq ofar ¥ 7
(A) wrafis &= (B) fadaes &=
€) & &= (D) & & FE
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9 ' The sum of marginal propensity to consume and marginal propensity 1
to save is :
(A) Zero (B) One
(C) Less than one but greater than zero (D) Greater than one
dmia ger wgfa ot dwia s=a wgfa @& a9 98 §
(A) = B) TH
(C) % & %9 AT 99 q aifss (D)Qﬂiﬁx‘ﬂﬁﬁi%

10 Borrowings by government is : 1
(A) Revenue receipt
(B) Capital receipt
(C) Neither capital receipt nor revenue receipt
(D) Capital receipt if borrowings are from abroad, all other borrowing are revenue
receipts.

(B) Yuirmg wiftq %
(C) T @ §ofrma wifte & ofi =1 & worm wifa
(D) e %o fRe & frr ¥ @ ol wifte, o1 =or worE Wil |

11 Distinguish between median and mode. 3

qiitae ST ggEE § 9T Biww |

12 Explain the concept of microeconomics. Give an example. c 3

Al FAR F FIYURON THAEY | UH A0 AT |

13 State any three assumptions on the basis of which production possibilities 3
are determined.

B A9 AAE FAEY 6 MU U SWRT @ueen fetea @ o ¥l

14 Explain "interdependence between the firms" feature of oligopoly. 3

FIHBT B EH F urEis sfataear’ fasar awsmsn |

IS Explain the meaning of excess supply and its effect on price. 3

g s @& o ot gEeT Fe 9T wwe wwEEm |

16 Explain the meaning of mixed income of self-employed. 3

@it & fafa sma % ot wEmEe
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17

18

19

20

21

22

Calculate marginal propensity to consume from the following : 3

(i) Increase in national income = Rs. 1,000 crore.

(i) Increase in investment = Rs. 100 crore

frefafed & dwia suwer wgfe &1 oftees @it

(i) T e # ghg = 1,000 w0z 5.
(i) Fraw ¥ gfg = 100 ws & SE

Define average propensity to consume and average propensity to save. 3

State the relation between the two.

a3 ygft iR ofea @aa wgfa @ aftarwr §fg | 39 % di g9y

AT |

What is autonomous investment ? Represent the same on a diagram. 3

fe (mr) fRy & =& aftw ¢ 7 @ Wi w Rare

For the Blind Candidates in lieu of Q. No. 19.

A giedm Tt % fwe wew dem 19 F wm w |

Explain the concept of autonomous investment.

Rt (wmm) fa9r & smaron gwEmET |

Calculate revenue deficit from the following : 3
(Rs. crore)
(1) TABTOVEIRIR . i iisiisrhis el tisis 200
(1)  NOREIEE PR s i s 300
(i) Recovery of loans ........cccoccvreverereeerervennnn 100
(iv) Revenue expenditure .............cceceveereennenen. 600
frafefad & o g @& uftees Fifo
(F %)
(1) T BB v sviviinssonins ot WiWWimas vt 200
(i) AT TR soremreoserenssssripammmamannprosess 300
({ii) FOW B FTHA covveriiinirecreeresciiirin s 100
GO TR L. B e R e 600 B
Explain the difference between 'absence of correlation' and 'perfect correlation'. 4
FEgEY &I iAot Yol Hewew ¥ oy @WsRy |
When price of a good falls by 20 percent, its supply falls by 40 percent. +4

Calculate price elasticity of supply.

Vg Uh 9E B BEG 20 wiaed e ® o smey smgfa 40 wiiem @w
B W T | YA W BHd @ & 9iEhe BT |
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23  State the relation between marginal physical product and average physical -
product.

g Wifs S 9 3 Gifte Sae % 99 99y 9dRT |

24 Calculate personal income from the following : 4
(Rs. crore)
(i) Savings of privaie COTPOIAIE SCCTO atatoilivsisss: 2isaesisicesrisesvavssrississ 20
(ii) Net domestic product at factor cost accruing to
the Private BEEUEE . ....civessivivrereresrore ottt dsidh IR L . LRGNETR 700
(1i1)) SCOPPOTSHION BN . 3100 S5l - Ko doer R - e s SRR L 60
(V) National debt IEIESE cicsiaissi oo sviossrdsiiira sy ousinisvsoratassrsssasiiindsss 100
(v) Net cumrent transfers fTOm AbTORduamstriciaissriiiesissanasaruassessassrsosban 10
(vi) Net factor income from. abIoad .... ...l seiediviidaesstibbissssasivin (-) 10
(vii) Cumrent trasfer from OVEIMMENT ..... .otk bsass iaaisss svos osssbosissears 30 %
frfafad & dafdms oM & 9@ B
@3 %)
(@) T Felm &3 & 8. ot 20
(i) Tt &3 @ e ara ) fed 9 AR |
e |y B 7 R R S SRR SR e, (52 < 00 R L S 700
G PRI WLk i dans sodhatinssnnes ST R R IS | L L L 60
(V) TOSERE T O O 020 o e Ll 100
(v) ToRell & FRam O BRI ... crreessvemmiveissunsovensis S otombnattt 10
(vi) TRA RO A A e (-) 10
(Vi) TR N W BRI o ossanneon R LS 30
25 With the help of example explain how the "lack of common unit of 4

measurement” was a demerit of the barter system.

SIET B HEEd ¥ wHEEe 6 e wwg-fabwa gowen ¥ A @
TN TS W W SEH UH gUS A1 | o

26 Explain "open market operations” as an instrument of credit control. 4

g P  SUm % wU A ‘gd 9 B fead’ §ueEy |

27 Calculate Quartile Deviation of marks obtained by seven students : 6
30, 100, 70, 40, 60, 50, 80

i fqenfaat a0 oy ol @ Cagde faeem” & uRees #ifag
30, 100, 70, 40, 60, 50, 80
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28 Calculate price index of the year 2013. Take year 2012 as base.

29

30

31

Use "Simple Average of Price Relatives" method. Comment upon the result :

Commodity Prices in the Prices in the
year 2012 (Rs.) year 2013 (Rs.)
E 5 7
F 7 7
G 8 10
H + 5

a9 2013 & qoU ARG B UGS BT | TY 2012 B SHER AR |
‘gt ofd g U’ fafu eeme | oftom wr oot @ifo

ELS| 9 2012 # ™ 2013 Fr
Fma (%) o (S.)
E § 7
F 7 7
G 8 10
H 4 5 %

Explain how the following affect the price elasticity of demand of a goods ?
(i) Share of expenditure on goods in total expenditure
(ii) Level of income

gazEy fo Frefafea & awg & w9 $1 FHa @9 B HE gwfaa w@ 27
(i) P& =9 ¥ g6 9T [T B HA
(i) oM H W

A consumer consumes only two goods x and y. State the conditions of consumer's
equilibrium using utility analysis. Explain what happens when consumer is not
in equilibrium.

T IUHIT HAW q TEGA x 3Ty B SUNA BT & | SGGRTET Fagawor
T SUNERT §gET B 9 Sy | wEeey fe At Sudiemn d@gem A
B O @r Eem 7 28

Explain the distinction between private costs and social cost. Give examples.

et @mral ofR grnfyie @rEl & 9" 92 @) swer St | sEET AR |
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32 Calculate Net National Product at Factor Cost from the following : 6
(Rs. Crore)
(i) Private final consumption expenditure .........cccevurveruecruenricrursncanns 900
(1) Prafit il L R de o i TR T o it b ie e 60
(iii) Net faciar income Tom Abr0ad .o i ciiasambasrsasssssassnms (-) 10
(iv) Government final consumption expenditure ............ccocevcriunaiuenns 200
(v) Consumption of fixed Capital ...u...gotmeresisisccssissrtssossbassssssssssnnes 20
(vi) Gross domestic capital formatioRsmwsiivmscsiisissioiimisisismmoss 100
(VL) SUDBIAIOR s cvuses ioarinsansonsizserssssons DU ve 11 arsvss Sxnsians somuesssaiesesssabon 5
gt En i SRRSO A A T R S 0 . ISR 0o e NS 25
(%) TGOt B . A N R s cosve dussioonsar R IIREERL LG Yok s« dnbasiivh s manvesubonshs 70
6 T (5 RO IO UL SRR | T MR 30
Frafafgg & @em @ W Maa U SAR & 9i@ad Hieg
FE %)
OG0 e OO ...~ RN 900
CH) N L vt x b vest s vs svammnisnyes s e IR R T Rl el vy b A et T 60
(i) TIRIN & FEE AT M o et (=) 10
(iv) ST ST SO S ... e reeeererobneessnsesasesssnes 200
(v) ST M BT DI ccoiseini s svness smisomaimmnatns s oo st doiRaamias 20
(vi) G RPN TIIOE oo ans g b s et 100
(vii) L e SR e e S I . | 5
g i hE o o PR TR SRR R R, 25
(X)) ORI W hedis T o R e O O e 70
S (L sk R AR AR L o ek v T 30 %
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